HAWT vs. VAWT										Name _______________________
1. HAWT stands for __________________________________________________________________________.
2. VAWT stands for ___________________________________________________________________________.
3. Three types of VAWT are 1) __________________, 2) _______________________, and 3) _____________________.
4. A HAWT has its axis of rotation parallel or perpendicular to the ground.
5. A VAWT has its axis of rotation parallel or perpendicular to the ground.
6. A lift turbine can capture ____% of the wind and a drag turbine can capture _____%.
7. Four advantages of a HAWT are 
1)
2)
3)
4)
8. Two advantages of a VAWT are
1)
2)

